Pre-Calculus 11

( 8. lving Abso| Value E ions

We can solve absolute value equations by graphing, using the strategies learned
in the previous lesson or we can solve using algebra.

Example #1: Solving y =|f(x)| Graphically for Linear f(x)
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Example #2: Solving y=|f(x)| Graphically for when f(x) is Quadratic
Solve each equation by graphing. Where necessary, give the solutions to the

nearest tenth. If there is no solutions, explain why.
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An absolute value equation of the form |CIJC2 +bx +C| =d can have

0, | |L \ 3 [ of L' solutions. The number of solutions depends on the absolute

value function graphed and the value of d.
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One of the problems with solving problems by graphing is that the solutions are

often approximate. To determine exact solutions we can use a\ qob(ﬂ
v
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( Example #3: Solving y=|f ()| Algebraically for Linear f(x)
Solve algebraically: x+8=|4x+6|

case(: the expression inthe Case@: the tepression ih ¥he
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Example #4: Solving y =|f(x) Algebraically for when f(x) is Quadranc

Solve algebraically |x —6x+ 5|
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